* B B D - 1 6 0 8 0 0 0 2 0 4 0 4 0 1 *

BBD-16080002040401 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F. 2016) Examination

July — 2021
Advanced Corporate Tax Accounting
(GRP-1)

Time : 25 Hours] [Total Marks : 70
1 A4 [ ad 2018-19 Mi2d Asi-dsui vid 13 Hoo ©. 17.5
GUIR el
oL W (3.) |2 W (3.)
HIGQALHIA AU/ 20,00,000 [ ®IRAHL vy Rl | 50,00,000
WOUR A Mol 2,40,000 | IR 6Lz A8l 12,00,000
w195 AR 4,00,000 |41 4 Rlag=s 4oy [ 3,00,000
AU AR 10,000 | 244 219 1,00,000
AHLA w3 40,000
sl vl 60,000
QAR 6,40,000
K 30,000
ANUd vl 1,80,000
o]l 8| 30,00,000

66,00,000 66,00,000

-y Hiledl :

(1)  gAR 2asd @ 3. 12,00,000 HIL 53¢ 6.
(2) 5a4-80 IB &sm suld 30% €.
(3) ad 2013-14-1 sed &2l 3. 1,00,000 Ag Al eHuIA
ysdd 8.
(4)  ad 2013-14 Hi2 45341 2 BgRAAL 20010 vAe ousl-l Hilsdl
1A Yoo .
1) [l &g 2 2P vAQ sl 3. 16,00,000 i
gl 3. 9,00,000.
(i) $ARUAL g Ml P WA 45Ul 3. 14,80,000 i+
qAlRL 3. 6,00,000.
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Guaril Awlsdl wel 2e1dil s :
(1) §4 $U2L 2UdS

(2) AU Yol sl

(3)  Sudldl s+l waeeldl.

sl gouadl usell ad (AY.) 2018-19+ ga asl aidid 10
s, 8l gouad A yaedl wulRdl 2usiell ad (AY)
2018-19 ¥l 1A Yol uudl 8.

WOURAL AUAS . 3. 4,00,000
Wlell Hetsdl v sl oo 3. 70,000
(Hetsd A €913ddl HIZ S L.ooennnnnnn... 3. 1,50,000
QYLSIY ASA o, 3. 1,00,000
HAG 618 L% .ot 3. 80,000

2REM [, dl. 1 el 2017« A% 11 adl (30 %+, 2028 7.5
dl) 3. 26,40,000+ 2ly-3a Rewoidl 2dlsiyMH3un
Adlll Adlddl Ml aldAy qndd 8. sRel ad e
sa4- 35AAB 3ol suslla suld sH wofl 43 8. a-dl awiddl
s, HIRL 3 wesg adl -

(1) ol clyy gl qua-t qaddl Rad o ysaell seuHl
w1l 8.

3. 8,00,000 dlqA~A Aoqdldl [Bad ysul 8. di. 15
1521012,2017+ [2ad 3. 5,20,000 1 eusldl ysagll
3. 6,60,000 6 AU Wl el 9 2018-19 4
2019-2020 Hi Ysqll.

(2)

3 R sURAA (A, 90 YR&L Ml Aldrdled Gculed sl A1 17.5
Asoudd 8. su-ll dAAs) Geulet &Hdl auRal e Adl 25l
ALl qeml [asAldal HISL B, FHL $JAR A A% uddlddl sl
(EBIT) -l ad*id &2 18% ¥l 25% . ddl arReull 8. su-dl 4
gyl aMdl atRdl Hi2 3. 2 sA3+l ¥3RuUd WAL

sudl Bloi gy 1A Yool Ausly dgl 2y s3A0 8 -

Q- | 851l 4R 14% 16% 20% 22%

ydl PELE] RelaR o5 dla

AR dl-l Sl

w 80,00,000 | 40,00,000 — — |1 80,00,000

X 40,00,000 | 40,00,000 | 40,00,000 | 80,00,000 -

Y 60,00,000 _ — {1,40,00,000 _

7 1,00,00,000 | 20,00,000 | 80,00,000 _ _
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su~fl 259U 82 30%, UJALF 3%, AAYIUA AN 3% AIAHL 4 9.
il RRAswsell 82 22% @l (1A 2@l «2l. e a¥ 30 el A% Rl
A8 52 O, QUL leudld Al udl dMIRL d1oy w[BUY 1R
SWRaAA % 53,

4yl su-dl wel-dl vud Gewied s2 8. su-dl Wdidl Gewled &xdl  17.5
ayal QA1 WL V. Aal WFse M2 sudlal 3. 5 53l 3 Gl
sl w3, ddl qIReL © ¥ sAR A A udaldl was (EBIT)
3. 1.5 5303 29, YUl su-l oton-dl gel-gel dlomivild Yedisd 52 8.
ollel galvl dAllls alg-l 82 12% ©. su-dl wd Yy eldla Moy 54l
Hie gel-gel Al 8. ¥ A Yoo © ¢
[sew 1 : gal - S(5adl-l ol 0 @ 1.
[asey 2 : gl - Slsadldl oRid 1 : 4.
[asey 3 : gal - Slsadl-l oRid 4 : 1.
sudl uldidl swell R ddls «8 sl
5391 £ - AR 8 30%, UALY 3%, Aoy AU 3%, RlA3s ysael
£ 16.225%
AsAl Y-l andr &2 glrl su-lla Yod [seusdl urieoll sal w2
GO RERTNR

5 AAASA [, U4 Hide Gculed s2 8. Su-dld Gawled &udl  17.5
qairal i Adl HlldHl @3daid Ggaidl 8. dal Hll4Al uwar
3. 2.5 At 8. Su-l Wi 6 [asedl 8. L Hall3] gkl ugladll wiled
5 ousl vzl gl vaadl. -l wlsdl Ay © -

[aseu A

3. 2.5 v+l 6ls dlt 14%-+1L Allls ol €2 3. 50,0004 Wi AHLA
sudl ol HYlALA vl s, ndl wRen © 3 ol wAl addi 2id
Ysaly 6.

[asey B :

uin ad Y4l 3. 75,000+ Allls ¢13L A1 1A HI3LUS Al 24194,
Halldl GU3l ug AR MAH a¥ widddl 1% MRARDLL 8l aya
5.

Yl AL sAIRAAL e Allls 15% O i AU &2 30.90% ©. dAduir
ey 2is 10% 2 2lAHL @S A UL 2ARBUAL DUUL 5 AAAISH (2.4
Hall1d sudl ugla ol wdedl 3 @3l ug gl Aaadl ASA ?
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6

Addld Y& s @ 10%

Q 0 1 2 3 4 5

Qi Y s @ 10% | 1.000 [ 0.909 | 0.826 | 0.751 | 0.683 | 0.621

st [, w0 Gewlert s3 6. Suslld Geuled UBUL HI2 2Ys
gesil #33Uld 9. d 6 Hdll R A 8. d2sl Ad oi-ladl 3 s8Ryl
aell eid el sl Wt . WA A ol 6 Haedl ©.
qdy 1
su~ll o33 uesl Nd oirlddle 55l $2. dxll ML 3. 16,00,000¢1 YidR
o Hlldl uin ad W w3duid WA, uin ad el Galled UidR
3. 24,00,000, 3. 28,00,000, 3. 32,00,000, 3. 40,00,000 -
3.50,00,000 WA, “ARIA e 15% ©. 921 Al a3zxild Hi 2
Hall1dl 3. 2,00,000 i AAUHL 2192, Geulerd WAL Q] A3vd
Ay 89,
Ydu 2 :
su-l o33l uesl o1l il wall wldl sel. i aul e g8l
Wid: 3. 36,00,000, 3. 40,00,000, 3. 44,00,000, 3. 56,00,000
A 3. 68,00,000 WA. VL Yd 35 Al AL AU .
Aduid Hed s 15%, $ARU 8 30%, AT 12%, A 3%. Hluril
Y10y dde UL, 9 st [, 2 gesl eirlaal ASu 5 oYl vleal
ASu ?

adHld Y& 2is @ 15%

17.5

Qi 0 1 2 3 4 5

Qdui- Yed s @ 15% | 1.000 [ 0.869 | 0.756 | 0.657 | 0.572 | 0.497

st @il : (45 ualL Q)

(1) 53 UAYA A 52 JAEA dslad
(2) s 2amdl A 52 AL dslad
(3) 53 VAYHAL SlUelll

st el : (45 ual Q)

(1) 4l 5 Adlasuil

(2)  Usd AR [z Hiedl Ay s:9:0 2Ll
(3)  $RAR AALA AHendl.

17.5

17.5
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ENGLISH VERSION

1  The following Profit & Loss Account is of Sandy Ltd. 17.5
for the Year 2018-19

Dr Cr

Particulars Amount | Particulars Amount

(Rs.) (Rs.)

Consumed material 20,00,000 [ Net Sale in India | 50,00,000

Salary & Wages 2,40,000 | Sale out of India | 12,00,000

Income Tax 4,00,000 | Interest Received 3,00,000

Wealth Tax 10,000 [ Other Income 1,00,000
General Expenses 40,000
Travelling Expenses 60,000
Depreciation 6,40,000
Rent 30,000
Advertisement Expenses 1,80,000
Net Profit 30,00,000

66,00,000 66,00,000

Other Information :

(1)
2)

Department

Deduction U/s 80 IB is 30%

Depreciation is Rs. 12,00,000 allowed by Income Tax

3
4

2 &

Custom duty paid during current year of Rs. 1,00,000

for the Year 2013-14

Following information is related for the loss &

depreciation carried forward for the year 2013-14.

(1) For the account purpose, loss Rs. 16,00,000 and
depreciation Rs. 9,00,000

(1) For Income tax purpose, loss Rs. 14,80,000 and
depreciation Rs. 6,00,000

As per above information compute :

(1) Total Taxable Income

(2) Book Profit

(3) Tax Liability of a company

Compute the total income of Mr. Krunal for the
AY. 2018-19, Mr. Krunal submits the following
particulars pertaining to the A.Y. 2018-2019 :

10

Income from salary ............cccoovvvvvieeeeen..n. Rs. 4,00,000
Loss from self occupied property ................ Rs. 70,000
Loss from let-out property ...........cceeeee..... Rs. 1,50,000
Business 10SS c..oiveiiiiiiiie Rs. 1,00,000
Fixed Bank Interest received ...................... Rs. 80,000
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(B) Rcom Ltd. got a license to operate telecommunication 7.5
services from department of telecommunication on
15t July, 2017 for a period of 11 years (Till 30th June,
2028) for a sum of Rs. 26,40,000. Compute the amount
of deduction available to the company under section
35AAB for the various previous years supposing -
(1) The payment of the entire license fee is made on
the date of acquisition of the license

(2) Rs. 8,00,000 was paid on the date of acquisition,
Rs. 5,20,000 was paid on 15th October, 2017 and
remaining balance will be paid in two equal
instalments of Rs. 6,60,000 each during previous
year 2018-19 and 2019-2020.

3 Star Corporation Ltd. manufacturing company connected 17.5
with fire safety products. Management of company has
evaluated production facility of company and management
wants to expansion production capacity and set up new
technology equipments in the business which is expected to
progress its profitability (EBIT) from the present rate of 18%
to 25%. Company required 2 crore funds for expansion of
business.

Management has given following finance proposal to company

meeting :
Proposal Equity 14% 16% 20% 22%
share | Preference [Debentures Bank Lease
capital shares loan | finance
W 80,00,000 40,00,000 - —180,00,000
X 40,00,000 40,00,000| 40,00,000 | 80,00,000 -
Y 60,00,000 - — 11,40,00,000 -
/ 1,00,00,000 20,00,000| 80,00,000 - -

The tax rate faced by the company is tax - 30%, surcharge
3%, Education Cess - 3%. The rate of dividend on equity
has not been below 22% in the past and date of dividend
declaration is 30*h June every year. As per the above
financial proposal give your best suggestion to Star
Corporation Ltd.
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4 Surya Company produces water pumps. Company wants 17.5
business growth of its production facility, so company needs
to generate capital of Rs. 5 crore for new project of company.
It assumes that EBIT of new project would be 1.5 crore.
Surya Company evaluates different structure for raising
fund from the market. Rate of external debt is 12% p.a.
Company has different structure for raising fund which are
as follow :

Alternative 1 : Debt equity ratio i1s 0 : 1.

Alternative 2 : Debt equity ratio is 1 : 4.

Alternative 3 : Debt equity ratio is 4 : 1.

Company will declared earnings as dividend.

Rate of tax : Tax - 30%, Surcharge - 3%, Education cess
- 3%, tax on dividend distribution 16.225%

Give appropriate opinion to company for selection of favorable
alternative through rate of return of capital employed.

5 Sunshine Ltd. produces stationery products. 17.5
The company needs new machinery for increase production
capacity of business. Cost of new machine is Rs. 2.5 lac.
There are two alternatives available company manager
either purchase by installments or lease finance which are
as follow :

Alternative A :
Buying the machinery through bank loan Rs. 2.5 lac
repayable in five equal installments of Rs. 50,000 each with
interest @ 14% p.a. It assumes that all expenses are payable
at the year end.
Alternative B :
Leasing the machinery for which annual lease rent is
Rs. 75,000 up to five years. The leassor charge one parentage
(1%) of the cost of generator as processing fees in the first
year.
Depreciation rate of machinery is 15% p.a. and tax rate is
30.90%. Give your suggestions by considering present value
factor 10%, Should Sunshine Itd. purchase by installments
or lease for machinery?

Present Value factor @ 10%

Year 0 1 2 3 4 5
P.V. 1 1.000 [ 0.909 |1 0.826 | 0.751 1 0.683 | 0.621
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6 Renuka Ltd. is manufacturing machinery. A company
requires elements in manufacturing operations. It 1is
considering suggestions either make or buy elements at
reasonable price. Renuka Itd. has two suggestions which are
as follow :

Suggestion 1 :
The company chooses to make require elements itself, it
would need to purchase a machine for Rs. 16,00,000 which
would be used for five years. Manufacturing costs during
five years would be Rs. 24,00,000, Rs. 28,00,000, Rs. 32,00,000,
Rs. 40,00,000 and Rs. 50,00,000 respectively. Depreciation
rate is 15%. The machine will be sold for Rs. 2,00,000 at
the starting of the sixth year. This manufacturing cost is
incurred in the starting of each year.
Suggestion 2 :
The company chooses to buy the elements from the supplier,
the cost of elements would be Rs. 36,00,000, Rs. 40,00,000,
Rs. 44,00,000, Rs. 56,00,000 and Rs. 68,00,000 respectively
in each of five years. This cost incurred at the beginning
of each year.
Present value factor : 15%, Tax rate @ 30%, Surcharge @
12%, Cess @ 3%. Give your smart suggestion, should Renuka
Ltd. make the elements or buy from outside?

Present Value factor @ 15%

Year 0 1 2 3 4 5
P.V. | 1.000 [ 0.869 | 0.756 | 0.657 | 0.572 | 0.497

7 Write short notes : (Any Two)
(1) Difference between Tax Planning and Tax Management
(2) Difference between Tax Avoidance and Tax evasion
(3) Importance of Tax planning.

8 Write short notes : (Any Two)
(1) Corporate Tax Authorities
(2) Special Tax Provisions for Free Trade Zone
(3) Explain Tax Management.
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